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"(General)
Full Marks : 90

Time : 3 Hours

|
Candidates are required to give their answers in their

| ; .
own words as far as practicable.

The figures in the margin indicate full marks.

| Nlustrate the answers wherever necessary.

|
' Group—A

Answer any two questions. 2x15

(within 600 words}

1. “Actually the nature of geography is progressively dynamic
‘and contemporarity inter disscipllinary throughout the
'time."-Explain the statement in the light of the scope

iand content of Geography. What is ‘space’? 13+2
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2. Elaborately describe the comprehensive life style of
‘Santals’ in India adjusted with their existing
environment.

Enumerate the major problems in their society and
mention how they are influenced by modernization and

technological advancement of India. 10+5

3. Discuss the driving factors for the development of Haldia
Industrial Region in Bengal mentioning its geographical

location and industrial identities,

Enlighten the recent problems of this industrial belt and
make a planning outline to mitigate those,

10+(23+ 271)

4. Describe the types and patterns of rural settlement found

in West Bengal.

Describe how a rural settlement can be converted into

urban sphere with proper example. 10+5
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Group—B
Answer any five questions. . 9x8
Any one from each number unit.

‘ {within 400 words)
Unit - I

5. Déscribe the contribution of Ritter in the development of

clllassical geography. 8

Or

Describe the background, objectives and relevance of

behavioural geography. 8

ok Unit - 11

6. Describe the advantages and disadvantages of Mixed
Farming from the view point of society, development and
‘environment in North Western Europe. 6+2

! Or

Is the mixed farming applicable or relevant in case of our

' India ? Give the proper reason for or against your answer.
5+3

Unit - III.
7. Comparatevely disscuss the concept, charactarigtics #nd
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significance of optimum population, over population and

under population with proper example. 8

Or

Distinguish between ‘immigration’ and ‘emigration’ with
causes and impacts in case of India. Give the specific

examples for both from India. 6+2
Unit - IV

8. Briefly describe the major ethnic groups and their

worldwise distribution. 8
Or

Comparatively discuss the socio-economic and cultural
life earning way of Pygmies of Africa and Eskimo of Arctic
Region, 8

Unit - V
9. Briefly describe the locational classification of town, 8

Or

What do you mean by ‘urbanization’ and ‘urban fringe’?

Establish the relation between them with proper example
from India. 8
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10.

11.

12,

Group—C
Answer any five questions. 5x4
Any one from each number unit.
(within 100 words)

‘ Unit - I
What is ‘COSMOS’? Write its importance in Geography.
‘ 4
‘ Or
Di$tinguish between determinism and possibilism with
concept and characteristics. . 4
] Unit - I1
Mention the causses why tea plantation agriculture has
been developed in Darjeeling Himalayan Region. 4
: Or
D{zscribe the causes of recent backwarding of cotton
textile industry in UK. 4
|
,‘ Unit - III
Distinguish between ‘brain gain’ and “brain drain’ with
proper example. 4
Or

Enlightement the population characteristics in India.
‘ 4
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Unit ~ IV
13. Give the conceptual characteristics of ‘ethnicity’ and
‘culture’. ‘ 4
Or
Write the geographical distribution and environmental
existence of ‘Bhil’ community in India. 2+7
Unit - V

14. Distinguish between linear and compaet settlement. 4
Or
What do'you mean by Metropolis and Megalopolis. 4
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